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41.00 1:25.34 2:04.82
1 WAk EE /N5 (0.59) 41.00
2 JNE AhiE N (+0.31) 44. 34
3 BRI =3 /N3 (+0.52) 39. 48
4 HE R 7N (+0. 58) 33.63
2 BIGT=X 1/ 1 3:02.58
46.10 1:35.23 2:20.78
1 SHBHAE A (0.72) 46. 10
2 YHEEEK /N3 (+0.71) 49.13
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3 HEIT RO /N6 (+0. 39) 29. 26
4 VR DA N6 (+0.77) 32. 61
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3 BIGT= 1/ 2 2:26.87
36.10 1:18.97 1:52.03
1 HEEAE /N6 (0.60) 36. 10
2 wE —iF /N6 (+0. 47) 42. 87
3 B Bk /N6 (+0. 30) 33. 06
4 HHE O® /N6 (+0. 24) 34. 84
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1 g mr x3  (0.58) 28. 85
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3 ET XA K4 (+0.23) 26.12
4 fHE D K4 (+0. 23) 25. 14
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